Frafafan ammEn gead faer faum g &1 wfEmw o9 5@ duen S
Frm-104(3) & srofa faafs-28.02.2013 9 fow stomy weiea g wiea #t & )

He| wEEm w1 AW ‘ fawm favm |
Ho
BN 2 ] 3 | 4 ]
1. o wEA= foE, " v e weomia sHeEw § SgEwn e 4 fafg
Hofaowe 64 ® Y FE A H HSAEA HOGEA wN I F
Hie ARITE SMEH, W fawn W eAmdTEe T A AR F adee faves @
Hofgowe o faums & AW 9eEE gEEed W § REEw-03.08.2012 F
it AT wER 1M, foea Feemla ¥ SUEER AMWW WeW gg e fEma oW
Hofgomo W A gEEEd W A aeee faeniiwn, e @ g

#t wae SE I e w0 = TRw fon o, o gen ofew o fafy ofes
T AN, Wofaeme F W smEvew fRw R oW | Ty W A ol ow W
wriard T #
o THiEn d wwemia HEE W SHEEn el wee
B PN TS R WY B WOEW W oH A= w0 ¥ "



|| 2 3 4
2. |ﬁrm¥hﬂm.mﬁma| "o § WA AW yoiel sai e & oM @
ol WAE= wmfudE, Hefaewe  wwrlt =W W wwm deensl ¥ fefy fowems 2 ) o
# TEE wEdl, YofdoHe dodieyse uiEW % fad ==l @ 2010-11 o 9 F1 3@m o=
g wity FER we, Fefheme 91,06 wivm, wwE ¥ 8185 wivem wr, = ad 2000-12 9 wEm
& Ham wErr, Wefaomo ¥ % 648 WAWE AW WEE H 399 686 Wave @ @
g e areE, HofdoHo g # 1 wwEEE g oW oA 2010-11 W O w1 IEE
# faere wam g, Aofacde 979 wfivm, w@m = 951 whwm S2@ w20 1 =81 2011-12
&t T TEE, Hofaode g i 042 ufem aw =Ed w1 3=m 01 ofevE R o
950 WP T &), Hoftone s=mpd A ® wem wd 20i0-11 F W w1 Iem
s wam wEw, Hofdowe 61.3 Wfaym, W@ 62.4 Wiowm, =€ =d 2011-12 # @
i€ w1 59 wivm, WEE W 9@ 552 whve gen €
mfudiial #1 @EE & FEm OTEl w3 dee w®)
= TE-yiaee TE e W
A: IR TR Y- A 39E F Fe
A W WEORIE % (o wRan UE we-wievn s
fimm w09 ¥ B9 TN ) wE 9 w1 § "

e =

yA HieEE,
famm faum 9w, = |
S HET - SoTo-§/13- }g{, / faoWo, wem, fodiw- 2 /weEd, 2013 o |
wfa - faer faum v & ssew  gEw w6 wfew /g g, fen o
THETE % WHE AfEs A e wtee ) qfee, feen Buam oo o e,
faen, we1 / dusg = fawm  fafy faum 9w @m oE 9 s favm  gea
Ud wEYEE A #g dfem j'?%’%;iu’{‘?

(ToRAR )
39w,
faer faum 3w, 9= |
Y HE-oYo-§/13~ }{/ 1 TaoHo, v, fetis-_g 7~ werdl, 2013 o |
wfa - I Afvw, s wEEE /AW W §hEa, SOt wEeE
st wfgs, afvdn wmiem / Fo sees, dgw afedm s 5 F9 G sy
eI, O SNy UERd, WWAl §fem ud W dgs ufes, faem faum wma #
Feed wfiw S
EA B A
(T )
g wfEa,
faer = , 9=
\

rd



	dhan1-Optimized
	dhan2-Optimized

